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(a) y"'+4y=8x% y(0)=-3, y(0)=0 (8%)
(b) x%y" +2xy' —6y =0, y(1) =05, y' (1) =15 (8%)
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. (a) R A2 5 M5 % B (unit step function) u(t—a) = {0’ ft<a & B K #2 #2(Laplace
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(b)or L& R - KRB & f(1) ={‘5’0’ i”; zii By KR - (8%)
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CER A=

C AEAEHA A R EHCEER  RAET 7B E R ey AR H Icosx, sinx, cos2x, sin2x,
cos 2mx, sin2mx o (6%)

CBAEBRBMF =[xty y+z,z+x] BegCr=[4cost,sint,0], 0<t<m R} EH
GFn > (14%)

e f“(x):{_kk’ P SIS p =2 =4 Ret Hab s F a3 - (14%)

. 4% A Gram-Schmidt ¥ $t E XL ey @42 > AT LR MR AEB = {(4,-3,0),(1,2,0),(0,0,4)}
% R B #u F AR (Orthonormal basis)  (16%)



